
Spiel 1 Spiel 2 Gesamt

Spiel 002 19:33 B 1 HINTERSTEINER Gerhard 56 + 59 = 115 # O

B 2 HARUCKSTEINER Thomas 66 + 64 = 130 O # O O #

Spiel 004 19:51 B 3 AIGNER Ernst 62 + 51 = 113

B 4 SPINDELBERGER Gerhard 58 + 51 = 109

Spiel 006 20:06 B 5 WRUSS Harald 43 + 46 = 89

B 1 HINTERSTEINER Gerhard 51 + 54 = 105 #

Spiel 008 20:24 B 2 HARUCKSTEINER Thomas 60 + 59 = 119 O

B 3 AIGNER Ernst 51 + 58 = 109 # #

Spiel 010 20:42 B 4 SPINDELBERGER Gerhard 51 + 62 = 113 # #

B 5 WRUSS Harald 38 + 41 = 79

Spiel 012 21:02 B 1 HINTERSTEINER Gerhard 49 + 60 = 109 O O #

B 3 AIGNER Ernst 45 + 56 = 101 O

Spiel 014 21:18 B 2 HARUCKSTEINER Thomas 51 + 54 = 105 #

B 4 SPINDELBERGER Gerhard 55 + 56 = 111 # #

Spiel 016 21:37 B 3 AIGNER Ernst 55 + 58 = 113 # #

B 5 WRUSS Harald 64 + 51 = 115 O O O

Spiel 018 21:55 B 4 SPINDELBERGER Gerhard 45 + 44 = 89 #

B 1 HINTERSTEINER Gerhard 49 + 53 = 102 #

Spiel 020 22:12 B 5 WRUSS Harald 49 + 50 = 99 #

B 2 HARUCKSTEINER Thomas 53 + 48 = 101


